=
<

o(0 @) (rad)

iy

%Fﬁhur&'n%#nﬂwm%+++++++++++++++++ﬂ+++

2 3

a(d cot(d))

uuuu||1111|11|1|111|u1111|mulli |

“T[ TTTTTIIT'I'I'TTT'TT"TITIIITITIITTTTlTlTIT” |

2 —1 0 1
TP n (PCAto beamllne)

efau
efau
e;au
erau

ts
s
=3
t—s

SICEWATL

o p/p.)

=3 -2 -1 0 1 2 3

10%

Ratio

z

oo a,) (cm)

w)|

1
1075
: Dy g :
MRS PP PRI .. .M EPRTPEN P
lllllﬂuluh|1:1u|111u|'11|111|1|1:l|1|11|1l111“1I
Ir ‘IT[T]'I.IIITTTlT‘[l:nIYI'T'"I'.T'TTT'TITI.ITITTITITI.'TTHT|
5

TP n (PCA to beamline)

T ¢ . T B

-2 -1 0 1 2
TP n (PCA to beamline)




	Contents
	Page 1


